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l* CIELABu1-Normhelligkeit l*
Ync=YWRGBnc=100, 21, 72, 7

l*

l* u=50,00, mu=50,24

L* u=49, l* u=50

l* CIELABu1 =66(Y/Yu)1/3,0−16  (Yu=18, Ync/100<Y<=Ync)
l* N(3,6)=23, l* u(18)=50, l* W(90)=97
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l*/l* u CIELABu1 relative Normhelligkeit l*/l* u
Ync=YWRGBnc=100, 21, 72, 7

l*/l* u

l* /l* u]=1, mu=−0,33

L* u=49, l* u=50

l* CIELABu1 =66(Y/Yu)1/3,0−16  (Yu=18, Ync/100<Y<=Ync)
l* N(3,6)=23, l* u(18)=50, l* W(90)=97
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log(∆Y) CIELABu1
Normfarbwertdifferenz
Ync=YWRGBnc=100, 21, 72, 7∆Y

log(dY)=4,58, mu=0,66

l* u=50, dYu=4,58, dYu/Yu=0,2544

l* CIELABu1 =66(Y/Yu)1/3,0−16  (Yu=18, Ync/100<Y<=Ync)
log(dY) = (1/3,0) log[3,0(Yu/65)] + [1−(1/3,0)] log(Y)
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log(∆Y/∆Yu) CIELABu1 relative 
Normfarbwertdifferenz
Ync=YWRGBnc=100, 21, 72, 7∆Y/∆Yu

log[(dY)/(dY)u]=0, mu=0,66

l* u=50, dYu=4,58, dYu/Yu=0,2544

l* CIELABu1 =66(Y/Yu)1/3,0−16  (Yu=18, Ync/100<Y<=Ync)
log(dY/dYu) = [1−(1/3,0)] log(Y/Yu)
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log (∆Y/Y)  CIELABu1
Normfarbwertemfindlichkeit
Ync=YWRGBnc=100, 21, 72, 7Sr=(∆Y/Y)

log(dY/Y)=−0,59, mu=−0,33

l* u=50, dYu=4,58, dYu/Yu=0,2544

l* CIELABu1 =66(Y/Yu)1/3,0−16  (Yu=18, Ync/100<Y<=Ync)
log(dY/Y) = log[3,0(Yu/65)] − (1/3,0) log(Y/Yu)

 = (1/3,0) log[3,0(Yu/65)] − (1/3,0) log(Y)
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log [(∆Y/Y) / (∆Y/Y)u]  CIELABu1 relative 
Normfarbwertempfindlichkeit
Ync=YWRGBnc=100, 21, 72, 7Sr /Sru=(∆Y/Y)/(∆Y/Y)u

log[(dY/Y)/(dY/Y)u]=0, mu=−0,33

l* u=50, dYu=4,58, dYu/Yu=0,2544

l* CIELABu1 =66(Y/Yu)1/3,0−16  (Yu=18, Ync/100<Y<=Ync)
log[(dY/Y)/(dY/Y)u]  = − (1/3,0) log(Y/Yu)
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bereich
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log (Y/∆Y) CIELABu1
Normfarbwertkontrast
Ync=YWRGBnc=100, 21, 72, 7Cr=(Y/∆Y)

log(Y/dY)=0,59, mu=0,33

l* u=50, dYu=4,58, Yu/dYu=3

l* CIELABu1 =66(Y/Yu)1/3,0−16  (Yu=18, Ync/100<Y<=Ync)
log(Y/dY) = − log[3,0(Yu/65)] + (1/3,0) log(Y/Yu)

 = − (1/3,0) log[3,0(Yu/65)] + (1/3,0) log(Y)
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log [(Y/∆Y) / (Y/∆Y)u] CIELABu1 relativer
Normfarbwertkontrast
Ync=YWRGBnc=100, 21, 72, 7Cr /Cru=(Y/∆Y)/(Y/∆Y)u

log[(Y/dY)/(Y/dY)u]=0, mu=0,33

l* u=50, dYu=4,58, Yu/dYu=3

l* CIELABu1 =66(Y/Yu)1/3,0−16  (Yu=18, Ync/100<Y<=Ync)
log[(Y/dY)/(Y/dY)u] = (1/3,0) log(Y/Yu)
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